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1. Re(a + ) = Re(a) £ Re(p)
2. Im(a £ ) = Im(a) £ Im(p)
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a; = ri(cos(6)+isin(6))
ay = ma(cos(6y) +isin (62))
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1. Q. Re(a £ 3) = Re(a) £ Re(p)
A. a=a+bi,f=c+di(a,bc,de R) 0D D000
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2. Q. Im(a £ B) =Im(a) £ Im(B)
A.a=a+bi,f=c+di(a,bjc,de R)ODODODODO

00 = Im(a£p)
= Im((a+bi) < (c+ di))
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a; = ri(cos () +isin(60y))
ay = 7o(cos(0y) + isin (6y))
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Oél/Oég = (Tl/T2)<COS (91 - 92) + 4 sin (91 — 82))
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r(cos (6) + isin (6))
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cos (62) + isin (6))
T cos (61) + isin (6;)

1y cos (0y) 4 isin (6)
r1 (cos (61) + isin (61))(cos (#2) — isin (62))
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T cos? (0y) + sin® (6y)
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= ;—; . (COS (91 — 02) + ¢sin (01 - 02))
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